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I. Regroup and fill in the blanks. 
 
1) 5 thousands 2 hundreds = ___________ thousands + 12 hundreds 
2) 8 thousands 4 hundreds = 7 thousands + ___________ hundreds 
3) 7 hundreds 4 tens 3 ones = 5 hundreds + ___________ tens+________ones 
4) 4 hundreds 7 tens 2 ones = _________ hundreds + 37 tens+2 ones 
5) 7 thousands 7 hundreds = _________ thousands + 47 hundreds 
 
II. Write the following in Roman numerals.  
1) 14 = _____________ 
2) 37= ______________  
3) 62= ______________ 
4) 40= ______________    
 
III. A) Find the actual difference and the approximate difference of the following numbers:  
 
1) 1014 and 4416  
2) 1277 and 1888    
 
(Here, round off the following numbers to the nearest 1000. Please follow the example to find out 
the difference.) 
 
Example:  
 
Subtract 1310 from 2462 
   
        ACTUAL DIFFERENCE               APPROXIMATE  DIFFERENCE 
 
             TH   H      T     O                              TH    H     T     O 
               
               2    4     6      2     à                        2     0      0     0                   
       --     1     3     1      0    à                  --    1     0      0     0     
               1    1      5     2    à                         1     0      0     0     
 
          Answer: 1152                                      Answer: 1000 
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B) Find the actual sum and the approximate sum of the following numbers: 
 
1) 1264 and 2662 
2) 1022 and 2572  
 
(Here, round off the following numbers to the nearest 1000. Please follow the example to find out 
the sum.) 
 
Example:  
 
Add 1410 and 2522 
              
              ACTUAL SUM                          APPROXIMATE  SUM 
 
             TH   H      T     O                              TH    H     T     O 
               
               2    5     2      2     à                        3     0      0     0                   
       +      1    4     1      0    à                    +   1     0      0     0     
               3    9      3     2    à                         4     0      0     0     
 
          Answer: 3932                                      Answer: 4000 
 
IV. Arrange the following numbers in descending order.   
 
1) 2676, 8124, 2431, 7322:_______________________________________________________________ 
2) 344, 295, 320, 172:___________________________________________________________________ 
 
V. Put >, < or =. 
1) 7834 ___________________6999                               
2) 5699___________________ 8941                             
3) 1222 __________________ 1222                              
4) 4772___________________4774                               
 
VI. Word Problem 
 
1) A baker buys 2742 eggs from poultry. If 682 eggs are broken, how many are left? 
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